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Since they are fit to become Tohmay Mohsay - 2w XU 19181 2OR7

OVERVIEW'

v"7 said the reason why pw1 732 are 77vx» and the same for w1 pw, etc. (even
though their 1v°w are different), is because they are suitable (71X7) to be Xnun
2w, Our MooIN discusses the explanation of this reason

- 9NN NPT IRIVY TN 49K DIYN YYD BN 2090392 YD
"9 explained if he cut out from two of these materials and joined them

together to make a patch for a donkey’s saddle’. mooin continues citing >"w" -
— NV YW B9 AV 1391 3NDIPNT NSV HY NOV B9IN YSPNPNT NI

And *"v1 also explained that Xn>92 in 79°¥2 n>on which states, ‘one who cut out
from all the mentioned materials the size of a mowv Y ndW it is AWM XnvA’; the

meaning of ©"yv 0710n" is that between all the materials together there is a 5y now
nov (but not that a v"yv from any of these material is 2w XnLH).

moon disagrees:
= 4HV8NY PNINIY NIRI NN 7298 NNT PNYY 139299 NI PPN)

And the °"9 disagrees, for why is it necessary to bring proof that these

materials are suitable to be combined for a amaw 5p% MW -
= 970 ININD TN GIONNT PPMINIY NINT PNINNN 1IIYNY 29 AWINT NNPYL INDA

Without the reason from 3w (which v"1 offers) we also know from our mw»

(xn»12) cited here that they are suitable to be combined in that particular order -
— 5915 G90ENY PIN 1INV 299 VP KPYTT 5X9NY ) NYY DY HYY 132 09IV M9

As they were taught; 732 to pw, a pw to 71, and "W to yo»; for this order in the
mwn was taught specifically, for only these are suitable to be combined
together —

moon offers his explanation what "1 meant:
- AWM RNVY 1IN DININT TUN 12 NN 13939 Y9V 11 PN 132399 NN

And the "9 prefers that way the X''2%9 explained it that when w" said, ‘since

I'See previous %1 7" 7327 7"7 'oIn.
R shi i i)
3 The Xn>"2 in R, 77°wn states, 190 2w ,AWHW 20wWnY 732 192 7w (W) 17101 ¥¥°p. See footnote # 8.
4 See footnote # 9.
5> The %"wan Max1 amends this to read, RP177 INAWY KD 11 2w DIIWRORY 17 KD R 7917 (instead of RpI1T7 7o17).k
6 See 73277 1"7 '01n TIE footnote # 2 & 3.
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they a 1987 to be 2w KW’ -
- 7209 PIYY JNNYIY NI NN 13990

That means, since regarding awm nxmv their Pwsw (of all the materials

mentioned) are the same -
- 19991 YSPNNYT (3,0 91 DT KNP 7993 $09VPA YWY M)

And as "2 explained in the first P92 of 7210 ndon that when the mawn stated

Yo% YXPRT -
= INJID NN YEPIY 170 NDND 19N

It means that from whichever of these materials he cuts from, it will be Xnw

2w, provided it is a v"vv -
= Y YNPIY WM PIPD) DININ POIVEN NIV YNV PN INIY ) DY 9N

And even though that here (regarding n» nxm)!° their 2"y are not the
same,!! nevertheless they combine (for nn nxmv), since regarding awm NXAW
their M2 is the same; a nov Sy now for all.

Mmoo explains the continuation of the X7na:
= NIMTD NIV JNPIWT 129133 93950 RNNTD 11N 993 XN 1299NRPT NN

And this which X217 answered, ‘here too they are fit for a sample’, this also

means that regarding a sample their 29> is the same -
= NYIY D5 NTOT Hyrasnn P93 pnTa

As the mwn taught in yox»7 P99 that if one set aside an item to serve as a
sample he is liable for carrying out even a miniscule amount -

7 This means that regarding 2w the 7w for all the materials mentioned is a 19w %y now.
8 11072 11"72; there it is cited as a 71wn in 2"n 120 @R, See footnote # 3.
% This is different from what >"w1 here is saying that 09132 means that he combined various materials to add up to a
u"yv. See footnote # 4.
10 See 781 71"7 'o1n that the 711°X here is concerning N n&mw [TIE (there) footnote # 6].
1A 731 requires Myagx 3"va, a 9w 7"v7 pw, and NOL 7"V V. etc.
12 The x»3 asked why do the items in our 73w» (the 121 7%¥v ,12n) combine (the 2 to the M) since their ™ MYw are
different. The only reason the different materials combine for n» nX™W is only because their MW is the same for
2w NRAW, but regarding naw (where we do not find an equality in their 2>1¥°w), why can they combine.
13 This is different from Xn317% 7"721 X277 1772 *"wn5 who writes; 12191 721X 012 12 WIW 1 LRBMNTS (T2 5T A1 Ko7
M 92 °WWT CTORT T P VW 0D RN 12197 1017 12 WO MRIT? PR 2107 0. Both *"wa and noon are providing
answers in accordance with their understanding of w"2 and the s'®7n3 question. According to >"wA that w1 explained
that the different materials are combined (for 2wn), so ¥17 answered that by naw also the various items are
combined when using them as samples. m»01n who understood w"3 to mean that if in one place their My*w is the
same, they can be combined in another place, even if in that case their 2>1¥°w are not the same, so 821 answered that
by naw also there is a case where all the 2°1v°¥ are the same, namely when they are set aside to be used as a sample,
where the M@ for all items is a w'">.
14 2,x. Anything that one stores for a sample, he is 2»n if he carries it on Naw even a W"3, since by setting that ">
aside as a sample, it becomes 21w (for him). See ‘Thinking it over’ # 1.
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- 1AM MNYOIY NY YT 927 19399 199X 1990811 750
Therefore all the items in our 71wn regarding N2w are combined even regarding
carrying it out for something in which their 2>91¥°2 are not the same —

NdoIN comments:
= NINY 793 9193 7T 1SANIDIDY Y919 NON VPINAY I8N MNNT TN NI

And X217 could have just as well mentioned here that they have one 7w if he
set it aside to plant or for medicinal purpose, in which cases the MW is also

w''23 as the mawn in ¥1317 states, so why mention X372 (only) -
- 927 953 NOPW NANT TAN ININ YT 113 TV 0127 95 N7 NUN

Rather the reason X237 mentioned (only) X»272 is because not all items are
needed for ¥97 and nX®9, however using it as a sample; that is applicable to
everything.

Mmoo responds to an anticipated difficulty:
= 1990 22) DY MIVT MR TININ 213 17191 Y8PNN 17H2902 9INPT NN

And this which vpH w1 stated in 7010 noon (to explain why 9127 p3pRa, ete. is

Xnv), ‘since it is suitable to patch up the saddle on his donkey’s back’ -
- POV YY NOVA KNPV T9Y 1103 SNV 19 HUY ONX XPWTT ERDNT INY NN 99NN YUY

The language, which 5"9 used, ‘since it is suitable’, is not precise, for it is only
if he actually made a patch from those materials and he designated them for

this purpose, only then do we rule that it is 82w if it is the size of a ©''»w, but not if
it is merely suitable to be used as a patch.

mooIN cites a similar ‘inaccuracy’:
= DYTPN PONIY PAIND DININ (x,3 91 INIIPY 529 99N P92 107D 13981 19)

And similarly we find later in ¥''9 »95, where °P117 says, ‘since they are suitable

to sweeten the pot’; there too the expression X X7 is inappropriate -
$PNYY 13929 .NTPN TINY 1993Y 5955 NNT PPNNM RN 1905 1YY Mne

For 711 should have said, ‘since they sweeten the pot’, for we are discussing a

15 This is an issue only according to Ms0In, but not according to >"wAn that X¥aM7T> is unique, because then you need
to bundle them up together (see footnote # 13), which would not apply X197 ¥15.
16 One cannot use 1an (for instance) for planting.
17.3,p; cited previously in this '01n (see footnote # 8).
18 See ‘Thinking it over’ # 2.
19 The xm3 there cites a mawn that three types of PM0OX 192N are 770X to be 70X the food in which they fell into
(even if each one by itself does not have enough strength to be 92ann). The X then cites 7°p1 who clarifies that
they are 7nvxn only if all the three spices sweeten the food in a similar manner, and he concludes that they can be
combined 777P7 PNRY SR PRI
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case where the spices fell into the pot! The above is from the 3''-.

SUMMARY
Items which have the same M¥°¥ in one instance may be combined in another
situation even when they do not share the same ¥°w.

THINKING IT OVER

1. Mmoo compares the reasoning of w"7 (that they have the same 7¥°¥ regarding
2uwn) to the reasoning of X237 (that they have the same W w regarding XnnT).
However there seems to be a difference, regarding nxmw all the different materials
have the same My°w of a 1ov in the case of 2w, so we see that the items have an
association with each other; however in the case of X»217 there is no YW, he is
¥"2>2 21 because it is a XanT7! A W' is not a MY W; it merely tells us that no Myw
is required. There does not seem to be an association between the various items!

2. mpon writes that the expression 17mm A"y MPLY XM X7, is inaccurate.?! Ts
this remark true according to m»0In explanation only, or even according to *"w"
here?

20 See footnote # 14.
21 See footnote # 18.
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